LQ Roll No.

Applied Chemistry

3K-ASN-05
Time : 3 hrs. M.M. 100
3 Note . — )
1. Part A’ may be attempled in first 5 pages of Answer Sheet
W 'F @ HN I, IO-YiE F yud o g 3 8 & £
2. Part B'in rest of the Sheets of Answer Sheetl
9@ F I, Iu-YiEEr & o 99 g F foafad
3. Answers may be given in Engiish or Hind)
Te &% 3% STue srerE et § &ifrd
S - o %
PART - &’
A
1. Attempt any ten questions % y7i % 3 fafau.- (10X2 = 20)

(iy  Whatis Hund's rule of maxium multiplicity?
st ' wedreffad ' 1 g2 (hund) =1 fram = ¥

(i) Define Electron affinity.

Toagm | ufwfEd " w1 wfgmm st

(il Write the electronic Configuration of Ca {Atomic, number 20) and Cu {Atomic number 28)

Ca (wafim gen 20 ) wen Cu (W@ d@m 29) & geagifa wrereem fafad |

{iv) State Law of Mass Action.
|1y T & frm o ogeden Sifad

(v) Arrange the following in order of increasing radii.
o™, mg?, Ne
T30 g seferr & Fen g W e =1 s wfd
o**, mg*', Ne
(v} What is a Co-ordinate bond? Give cne example
wanfdrz drs (=) A T fgma {7 TE TF I i)
(viij What is Scale and Sludge formation in boilers
AR # g T Tl W § e stawr #2
(viti) Define Polymer
drerte =1 it S

() Mention two uses of Cast lron.
e Eik & 2 I9am fafad
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" (b) How does an orbit differ from an arbital?
I U SARfaed & iy wen fiey 37

4. (&) Write the Characteristics properties of s, p. d and f block elements.
5, p.d mfwaﬁ%aﬁa&rgﬂﬁrﬁm

(b) Define Colorific Value of a Fuel. Explain fractional distillation of crude petroleum.
3 % Fefifa A 9w | F S o e fesder i fda S |
5 (a) Describe the preparation, properties and uses of phenal formaldehyde Resions (Bakelite),
Tormiter weiefeeme 1A (ddame) @) v, 39S i A IgE = qviE w1

(b) Differentiate between thermoplastics and thermosetting polymers.
T ] St gt | v s w iR

6. (a) What is hybridisation? Explain SP?, 5P?& SP hybridisation with one example in each case.
" erafadeie & @ sfa 22 SPY, SP2 qar SP ) grafafesivm #1 fad= g6 S 05 -UF a0 ST B |
what is an electrovalent bond ? Givt two examples
FERIETTE ST R | T 41 e gl

7. (a) Define Equilibrium Constant 'K’. The equilibrium Concentrations of reactants and products for the following
action at 298K are given below,

A, (g)+3B,(2) = 2AB, (g
[A,]=0-38 mole/! [B,]=0.25 mole/!

[AB,]=0.6 mole//

Calculate the equilibrium Constant for the reaction at the given temperature,
fordt T AW 9T AT 1 SR A e A i

seeftferfa wres= K #1 afomm #iferd | 298K T wh wfifma % Rusdew aen vreww & gedifaf e
=it &1

A, (g)+ 3B, (g) = 2AB, (g)

[A,]=0-38 ezt [B,]=0.25 At

[AB,]=0.6 sraveftet

(b) Explain briefly the rale of metallic Coatings in pravention of Corresion.
f%ﬁmiﬂfﬁﬁi’lﬁﬂaﬁﬂ?ﬁﬁﬂﬁ et 7 Hfera fadsn wifr
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() Two elements A and B have atomic numbers 1 and 17 respectively. They will form a Compound having
melecular formula as G,
2w A A B wm: v e | a0 &8 frer wm anrae e e miewE T S,
(xi) An electron is in 45 orbital. Write the values of all the four quantum numbers for it
U Ferl 45 arfifes o 3 e fed ot s s wienaii = v fafEd
(i) - What happens when soap is used in hard water?
FE T A A ® I gy
(xiii) Name the polymer used in making handles of Cooking pans. Write its manomers.
o A A @ ¥ R T G i A e am ke
{xi)  Two salls which cause temporary hardness of water are.................. and
A F e A T H AR D () b W
Attempt any five questions = vl % Tt fafau: (5X4 = 20)
(i) Whatis de-Broglie equation? What is its significance in Our daily life?
=1 AT T = 2 e A e | g am e
(ii} Give a brief account of Annealing and Case hardening during heat treatment of Steal,
TR @ FO IR A ot den e erdfm femal s sl fraro @
(i) Derive the relationship between Kp and Kc.
Kp @& Ke 1 7= =i wifad
(iv) Describe. the factors Affecling the corrosion
FRraT () T R R Fw T w) & faarm ifid)
(v} What are the characteristics of good fue!? Describe in brief
A BYA & Sl w7 87 HEw  faaom g
(vi) Whatis a Zeolite? What is its role in softening of hard water?
Feiemdz @ £7 FEI0 T ®) T A A FHAT i #n 87
(vii} Mention the compaosition, properties and uses of Brass and Bronze.
e O T ) FEARGO, 0 A I i |
(viii) Why hitrogen has higher value of ionization energy than oxgyen?
ST F AEN T A w1 ArEEEER e At = i
PART - B'sir - '&’
Attempt any three questions @17 ¥l & 3wt fafaw:- (3X20 = 60)

(a) What is Rutherford's Nuclear medel of the atom? Mention its drawbacks.

TEH (TEI]) F FEURS AEd #4187 39! o Ffen fafad
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